
Front View Side View

Section View  A-A

A A

SCALE 1:8

Connecting blocks attached
in between upper railings

The two sign mounting assemblies 
slide together and are fastened with 
specified hardware

SCALE 1:5

Standard t-nut (x2)

Hexagonal head bolt (x2)

Sign Mounting Assembly 
(x2)

Skateway Railing

Sign face attached 
with wood screws

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 15

 O
ct

ob
er

 2
00

9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 G

en
er

al
 A

ss
em

bl
y 

 

RCS Regulatory Signs 
General Assembly

RCS Regulatory Signs 
Fabrication Specifications — Wood Components

RCS Regulatory Signs 
Fabrication Specifications — Assembly of Wood Components

RCS Regulatory Signs 
Graphic and Fabrication Specifications 

RCS Regulatory Signs 
Installation Specifications

RCS Regulatory Signs 
Fabrication Specifications — Assembly of wood components with sign face

Assembly — Exploded View

Sc
al

e:
 1 

: 6

P
ag

e:
  1

 o
f 6

 

Front View

Back ViewFront View

Bottom View

Side View

R=35 mm

Sign Mounting Panel

*Connecting  blocks to be glued and screwed to sign mounting panels as specified
(with 4 #10 flat-headed wood screws) 

Section View A-A

A

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 15

 O
ct

ob
er

 2
00

9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 F

ab
ri

ca
ti

on
  

Sc
al

e:
 1 

: 4

P
ag

e:
  2

 o
f 6

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 15

 O
ct

ob
er

 2
00

9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 F

ab
ri

ca
ti

on
  

Sc
al

e:
 1 

: 5

P
ag

e:
  3

 o
f 6

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 0

6 
O

ct
ob

er
 2

00
9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 G

ra
ph

ic
s 

+ 
Fa

br
ic

at
io

n 
 

Sc
al

e:
 1 

: 5

P
ag

e:
  4

 o
f 6

 

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 0

6 
O

ct
ob

er
 2

00
9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 In

st
al

la
ti

on
  

Sc
al

e:
 n

/a
 

P
ag

e:
  6

 o
f 6

 

Ti
tl

e:
 

C
on

ta
ct

: M
eg

an
 M

ar
in

D
at

e:
 0

6 
O

ct
ob

er
 2

00
9

P
ro

je
ct

:  
Ri

de
au

 C
an

al
 S

ka
te

w
ay

E 
m

m
ar

in
@

nc
c-

cc
n.

ca

T 
 (6

13
) 2

39
-5

31
2

R
C

S 
Re

gu
la

to
ry

 S
ig

na
ge

 —
 F

ab
ri

ca
ti

on
  

Sc
al

e:
 1:

4 

P
ag

e:
  5

 o
f 6

 

450mm

350mm

19 mm
(0.75”)

Back View

Connecting Block

Top View

51 mm
(2”)

MATERIAL: • BLACK duraflex, 4mm thick
 • Measures 450mm x 350mm
 • c/w Ø 1/4” holes, located as specified above

GRAPHICS: • Screen printed with retroreflective laminate, using exterior grade inks
 
DURABILITY: • Panels will be installed in an outdoor winter environment. 
 • The durability of all graphic reproduction methods and materials used must be suitable for this application
 • NCC designer to be provided colour samples for approval prior to production

ARTWORK: •NCC to provide electronic artwork Mac format for Adobe Illustrator CS3

124 mm

 35mm

203 mm
(8”)

75˚

 38 mm
(1.5”)

159 mm

A

 225 mm

Sign Mounting Panel 

Skateway Railing 

Connecting Block 

Standard t-nut
5/16”-18

1/4”-20 Standard t-nut 

#10 Flat-headed wood screw

Sign Face  

1/4”-20 Round-headed screw  

Hexagonal head bolt
5/16”-18
3” length

Pantone 032 Black White

COLOURS

*ALL SIGN MOUNTING PANELS AND CONNECTING BLOCKS TO BE PAINTED BLACK*

‘NO DOGS’ SIGN
Quantity: 30

‘NO ACCESS’ SIGN
Quantity: 30

450mm

350mm

R= 35mm

*REFER TO ARTWORK 
FILES FOR GRAPHICS*

Exploded View

Sign Face

Assembly of wood components

1/4”-20 Standard t-nut 

1/4”-20 Round-headed screw  

35 mm

35 mm


